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Suctews 6 equatione bY Gauwss Jacob! ond Gauss
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°" : Solve btwa Following

decimal Plaws.

to three
5 bXHIsy+az =72

Coryect

- Seidal methed

XxAYtswz =np, 27X FHbY-Z = 8

Soluton:-

Can Yewwnte ag:

The Given 2quabons
27> - §5—by+Z

x - 85—-by+2

X +1By422=72 ' H+Y +54-2 =110

y=72—-6x-22 Sz = llo—>—Y

27 (s 2= no—2—Y
54—
Q) Gauss Tacobi metnod
- T2—6=-22 _ llo—>—Y
Ttevaton| o = 85—6YtZ R e i o
27
Y=o; 2:z=0 H-0; X=0D =0, Y=o
o1
X = -——95 =3 g = lg— = o3 2=
27 3 431 = I+ Hi - 2.0370
o2 =8, z=2.0370 X =31481, 22106370 X¥23-148) y=n.g
X =-a.5¢g Yy = 3.24
? Q| 2= I 83qg
03-
2-4+q16 3 6852 l-Q365
Ol 2 - 14009 3. 545 (-9228&
) (- a26q
05- 2-43 |5 3-5832
. - Q256
0b- 94032 35704
- > - - . 2 = |-0256
The Colubtion 'S, 7 =2-4232 Y =3.-5704
) Qoucs Seidal metnod !

1= 85 —by4-2=
27

Yz 72-bx—-27
-_— ’
15

2=ho—->"Y
Si
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AX,

ff}- A L0

I 6 |
l 2 (2]
o o 3
& : an
o be
0

27 5 Sk
=2 = -
o)- B:o’- 2-=-0 7(."_3.“_’_8_" 2=-0 8“"‘9’/ =1 .9 5‘{-07
- 95 2 = t-913f
—'TT- 214-81 Y= 3-5407
o02. = 2. - . -9. =3.5720
3235407, 2=1-N3) | , 2-432) Z=1-Qi3) >:2-4321, 9
2 = 2-432) y= 3-5720 Zz= 1-Q258
03. |q2—59
2- 4286 35729
l- Q2549
3-5730
o4 2. o5
l-925q
05 - 2.0 51y 3.5730
N -3 - =1’ 9—5 -
Twz Solubion f¢, = 2.4254  $=3-5730, ==1"9 7
Find bne dominant 2igen Yalue and ke  Covves Ponding eigen Vectoy

apProdi mate €'9e0 valid .
|
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0-1r286
o
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Ax,

- 1o, \

Q-Ol-f- = l+"9— b"‘f'qs’ - l{-'lQ»Y5
(o] (0]
Adg = 3-q70b '
. l-Qqpq = 3+9706 b- 5012 = 3-970¢ X
& (o]
A—xb - H"DO']L [
2. po2y = #-0071(0"#%7» = W--p0o72 Xy
° o
4)(7 o 3'qq92 |
1- 99qy = 3+9qgq D-5 = 3-9982 x
o o ¥
AXg = Y )
0 = W (0-5 ) = k¥
o o]
.D - (=]
Ominant Ri8en \Value = 4 CuYYQSPonding Q?go_n vectoy TS‘ (15)
o
To Find tue 4 Y
Bagt  ofgen value o B:A~l+1 e x
N ce 1= 4
B - 1 6 | 4+ o0 o
t 2 o - © 4 o S T3k !
© p 9 © o u ' =2 2
(o] 0 —2
we  wit Ly .
\ ’_{‘tnol tk.Q dDm'”QOl’ P_FQQO value o B
Lot - ,
7 = (o) be bie iniba) Vecror
o
BY. -3 6 (
{ _1 2 (o) - , - -
(=] (o} -2 o -0‘3333 :_3>’l
o
-5
BYy = - bbbt z - '
—0-3333 =~ 5%
o o
L bbb = 2 pidana ,
1= (o) kil
Domingne 278en Value O~ B = —5
Adding 4, Smallest Rigen vaiw &} A = —S5ty =—|
Sum ¢ 2igen Yalwa = Tyatz O ha Motrix = (+2+3 =6
v b, 3y =1

= b6 /\3'33,

s,

4 =1 +As

Tha €9en Yalws arve
Scanned with CamScanner



Vou.l wic |

031 find btre Yeal Positive Yoot oF 3% — Coox—1=0 bY Newtons Raqphson
Metnod Covrect (o three “decimol Places.
Soluhon:-
The @iven equaton S, Ft>)= 3> — ConX—) = O
+0 = 3+
Now:. Hloy= 3(e) —Como—! = —2="V%
1) = (1) — Comt—1 = +ve
Twe  Root Aie¢ Bewoeen o and . e Ho = D-5
The newton Raphson metnod 1S, Hppy = o — F>th)
1
+ Gen)
Put- n=o0; >, - o, — H(>0)
:f’(MD)
= b-5 ~—~ Flo'5)
+o-5)
= Pp=5 — [ 2(0.5) — Coo(D-5) —)
3 +&5nlo-5)
= O- boss
Pur n =1 X, = ¢, — T0x)
F3¢))
= D-bogs — flo-bogs)
? ’fl(0~6035)
= b-6085 — [(3¥0-5035) _ leo-bo&s)——p—";
.
3 + f-)‘f)lo.eop.s)
b=l o I 607’
Put n=o . >3 s oty — Flory)
£'t>¢2)
i = b 6o7) — Flo-bo71)
]
: 1 lo- 6o7))
‘ : 5 = b-6071.
: | The Ropt e 0-6071,
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o
Hoa o Positive Yoot ¢} 3> — J l+gfn> =p by TLEevatroo

method .
Soluton

Tha  Qiven equabion IS 3x — J,_,_E‘onw - o
3 = [Trem

Ll \/ | +8&nne

3
PO = | 4 5ime
3
and CPl(w) = Come

[ |) f+;inx

The  yopr U 3givern Qquattorn Rieg in lo,1),

Siqie Flod=-ve ; and 41y = +ve.

Let- My = b- . 3 = 1 , -
© 2ok P ' 2 ‘g" | +&nto ) = D- 3929

05

The  yoor ic o0-3q)9.
S
°We  twe gystews by Gaues Elimination method
Solurion:.
' 2 3 —\ J
The Sudkem i$ equmnalenl- Ax = B whevye A= y :
s -—3 -
2 -3 2 z
: L E
™ Qugmenteq matH > (A»B): 2 3 - 5 i
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2 3 -1 5
(AB) =
2 2~ g | R = R—2R,
o -
b 3 "_3 QB :Qa__R'
(AB) = 2 3 =1 g
o -2 -1 _7
o ) 6 le R3 = Ry —3R,
BY Back Subsh tubon ™ethod
bz=1¥, 2=18 _ 4
3
and —2Yy -2 ==
—2Yy—3=-7; “2Y=-k_: 4d=2
and 9> 43y—=z= 5
1> +3(2)—3 =5 2o +b-3 =5
2> = 2
=
The golution . %=1 Y=2, 2:=3.
Solve w2 SysStem Oy equakions oty +32= 11, 3>+4Y+22 =), 2333Ytz
=7
by Gauss Jovdan memmod.
Solutpn:-
3 AX = 8B.
& e Yewnte A
The Systenp OF @uationg can b
b | 3 DY f
A X = B = '
3 4 2z = 9 'l
S y
2 3» | P v
: - ! 3 [
The Augment motr> s, (A,B)= &
3 L 2 L
2 3 1 -7
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4 3 1
(A, B) =
o —I13 ! e Ra = 3R —nRr,
|
6 -5 | -3 R3 = e — 2Rg
" { |
- '3 o lo (33 \ R = 3R +g,
o —13 =N B
(s] O { 2 U )
Ry - 58y — 3Ry
-9
_ "
- 3 o o 13 Ri = R.”- IDR_:;”
o) L3 o] 13 n
o o RJ. = Ra'l —R';_l
| pR
13x =13
. 13 =13
> :' - , K; IQ/
g =)
The Soluton (¢, =1, Y- 2.2
’ 7 - .
o7l. . . —
Find b ITrevavve dov JH by Wwing Nowton RaphSon ™Metned
and hente +Hind tme  value o (s,
SoluHon:.
Lot »= (g .
nZ To Find twe Yaluwe & f5 -
Flioy= %—w = o 2
FL) = > —S5 =0
!
Fx) = 22¢
3“(') = |—5 = —4L4
The newton Raphson mMethod IS :{_D_) = heg =)
- s L
My, = o j’i’fn) F3) = q—5 = 1
(BY]
") Root Lies Betwesn < am d3
2
L
2%y % ~ X +5
I °© = K.a5
2. R 2%
')("'l-H = 17(1*) —n +N )
. 9(2_ = ;(, 1—5
D5 b T = 92.23%
1
P 'HQ' i < £
Prle = n TN 3 T xg +5 = 2.236
\
2Ry 25,
9 Toe ytivn & des 2236

P
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